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	Тэмдэглэгээ
	Тоон утга
	Нэгж
	SI –ийн нэгжийн уялдаа

	Цезий -133 атомын
цацаргалтын давтамж
	
∆v(Cs-133)

	
9 192  631 770
	
Гц
	
Гц=сек-1

	Гэрлийн хурд
	с
	299 792 458
	м∙сек-1
	м∙сек-1

	Планкийн тогтмол
	h
	6.626 070 15 ∙10-34
	Ж·сек
	Ж сек=  кг∙ м2 ∙сек-1

	Эгэл цэнэг
	е
	1.602 176 634· 10-19
	Кл
	Кл= A∙сек

	Больцманы   тогтмол
	к
	1.380 649 ∙10-23
	Ж∙ K-1
	Ж∙ K-1= кг∙м2∙ сек-2∙K-1

	Авогадрын тоо
	NА
	6.022 140 76∙1023
	моль-1
	моль-1

	Гэрлийн хүч
	Kcd
	683
	Лм· Вт-1
	Лм· Вт-1= кг-1∙м-2сек3 ∙кд ∙стр



